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INSTRUCTIONS
Anwwer all guestions,
Al questions carry rqual marks.
Only one answer is 10 be aiven for esch question.
I more than one answers are marked. 18 would
be treated as wrong answer.
liach question has four siternative responses
marhed serjally as 1, 2, 3, 4. You have w0 darken
only oue circle or bubble ndicating the correet
answer on the Answer Sheet using BLUE BALL
POINT PEN.
1/3 part of the mavk(s) of each question svill
be deducted for each wrong answer. (A wrong
AnEWCT means an incorrest answer or more Lthan
one mwswers lor apy question. Leaving all the
relevant cireles or bubbles of any question blank
will not be considered as wrong answer.)

The candidaie should ensure that Series Code ol

the Question Paper Booklet and Answer Sheet
nwsl be same afier opening the envelopes. In
case thes are diflerent. o candidate must oblain
another Question Paper of the same series.
Candidate himscli shall be responsible for
ensuring this.

dobile Phone or any ofher electronic gadact m.

the examination halt is sfriclly prohibited. A

cundidate found with any ol such objectionable

material with himeher witl be striely deall as per
rules.

Please correetly Gl vour Roli Number in O.M.R.

Sheel. F marks will be deducted tor filling wrong

or incomplete Roll Number.

Warning :
any unauthorised material is found in
his‘her possession. F1R. would be
lodged against him‘her i the Police
Station and hesshe wouid liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Untairmesns)
Act, 1992, Commission may also
debar hinvher permanently {rom all
future  examinations of the
Commission.
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““If 4 and B are two sets, then A —(A-R) is equal to

) AUB | @ AnB
3 oA @) B
afs 4 ofrt B4 e & @ A-{4-B) TETE
(1) AUB | @ 4nB
(3) A @4 B
fhe 1elat10n R_{( ) (2,2 } defined on set A= rl 2 3} 15" _

o I} Reflexive and’ symmetnc buf nol transitive
(2) Reflexive and transitive but ‘not- symmetric -
(3) - An equivalence relation
{4) - Only reflexive -~

At v 1) 03631

Let R be a relation on t‘ne set N of natural numbers .déﬁ_ﬁed by
R -.{(1 y)ix+ 2) 8} Then domain of Ris o

{2 4,8y ' {2,4,6, 8}

{246} o '(:4) {1234}
e R={(x ): 52y = s}srﬁgaq@meﬁésqgaaz\?wqﬁmﬁaqm
W@a%wﬁRaﬂma% N
)y {zast @ {2468
t3)'_‘{2{4;6} : R @ {1234}

4 - The domain of the function flx)= ‘10&,[5";"' ] s

o @ 0
o3 o5l . @ I1,5]
w f()= _mge[“-x ] S
oA @ (09
® [os) @ [Ls]
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5 - Let R be the set of real numbers. .T'h.en a 'ﬁ!.nctibn fiR—> R defined by -
f(,\’):l;g-x V¥ xeR is | o
(I)"" One-one. | (2) Onto
(3) One-one and onfo "~ @) .Neither_.-dne-one nor onto
a1 R arefas gemel &1 oggeaw 31 @ wa@d SR R owEl
Sl)=exVoxerE
() oEE @ erEE
() R ofiT smmEm. (1) 7 o T e
. x—2 o
6 \{2?2 1x—2| is equal to
1y i 2y -1
3) 0 (4) Does not exist
lim }x _2I T
x—=2 x_2 %
(1 1 . @ -1
G o | @) T &
x,- when xis rational . ) o
7 If f(x)={ o , then fis continuous at
1—x, when x is irrational
(1)  All rational numbers (2) Zero only
1 .
(3) 3 only : _ (4) No where
‘ o (x, @R x ohda ¥ o
i f(x)_{1~x,aﬁ{xaw&ﬁa yo TSR
() i wept W Q) Fad 9T W
1 ” N~
3) mam _ @) o T8
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. l | i . ] '
fim I:--—-+—-—+ +o t ST | s equal to

ool 13 3.5 5.7 (2n-1) (2041} |
OREN o o 3
o F @ ¢
lin:1 [—1:+qi+~i-++————1——~—}w 35-
nee| 1335 5.7 (2n-1){2n+1)] "
o 5 @ 3
o 5 @ o
9 The set of points where f(x)=x|| ¥ xeR is twice differentiable, will be
(1) {0, 0) @) [0,5»)
3y [ 0] @) (-=,0) U(0,) |
o frgelt &1 e vl £ (x)= x| V reR, & IR omawwE & @
M) (o) @ [ow) |
G) [0 @ () U(0.%)
10 Function f(x)=|xI~1} ¥ xR is not differentizble at
M 1 @ *
(3) 0, *1 B @ -l
HE S (x)=|jx]-1] ¥ xeRr, axa’nm#rqﬂé’r z
a 1w @ s1w
G) os1w @ -1
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11 | The argument of complex number Z:m is
_ o _ : . E
- (3) a _(_.:)_ e
L 1-i
WS W 2 = e ¥
5 37 T
G - @ 3
12 The value of \fj is . _
| 1) £(1+7) @  +(1-1)
-(3) i-—l—(l+f) (4) i-l—(l—i)
2 V2
Ji waE %
(1) £(1+4) (2) (t-4)
Gy = (1+i) @ —=(1-i)
©® =7 3
13 If complex numbers Z,Z, and Z; are vertices of an equilateral triangle,
1: =2 3
then Zf+2'22+Z32 is equal to
() Z)Zy+Zy Z3+ 32, 2)  2(7)Zy+ 2y Z3+ 232))
1
(3) E(Zl Zy+7Zy Z3+23Z;)  (4) Nome of these
. ' . 2 L2 2
i "ty g Z;, Z, 7o 73 Ue quarg By % o o, @ Zy + 7y + 74
qqE _
() Z1Zy+7Z, 23+ 237, Q) 2(2)2y+2Zy 23+ Z37;)
1 ' - - .
3) E(Zl Zy+Zy Z3+257;) @ T & &Y 7
01 _A] 5 [Contd...
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If the sum of two unit vectors is a unit vector. then angle between them is

e

I .
3 2 7
. im . 2
(3) o : €} 5

ufy @ g aRel W dm v va el €, 6 5 9 @ e

. 3r . T 2
I L@ T
— A A Ay A A — i N ~

if vectors a =i- j+k, b= f+2j—k and ¢ =3i+a j+5k are coplanar,
then the value of o is _
(1 2 ' (2} 6

¢ =2 | @ s

AN s A

— £y M a3
af e a-:~;+!r b_.«+2; koam e =3i+o j+5k RGN B,

oo w AN _
w2z @ s
®o2 @ s

y R
If x” =™, then 4 is equal to

dx
(1) _l/(1+[oge x_)2 - (2)  log,x/(i+1og, x)
(3} log, x/'(]{lt_)g_e_x)z . (4) - None of these

'-Uﬁ xV =¥ y Eﬁ’ afy EIIIEIIH%'

(_.1') -/(1+loge )2 " @) logex/[li-logex).

RNEY Iogex/(lﬂoge F @ T e
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SR B & .
If x7 + )y =3xy; then 4 equal to

o bl e b))

(o) (“Z“J’)/ (""})) @ (1°—y)/(y2—x)

?-]'FCE x +y ~3x) ?ﬁ ‘"‘-aii_ai:%

J (X ﬁ} /lY y ) .(4) (\'zﬁv)

dZ

18 If 32 =2x? +3x+4, then » d—r{ is
(1). A constant N ' (2) A function of x
{3) A function of y (4) A function of both X,y
Al y2=ox? +3r+4a°rygd}% |
_ () T e @ W
(3) 'y W TH B C (@) x, y S s
19 Fl;_lnction' f(x)= x> ~3x? = 24x+5 is increasing in the interval
) (e -ty @ (2%)
G (24 ) - (o,4)
e f(x)=x" —3x*-24x+5 Prar ¥ ¥ frw oraw § adwe ¥ 7
(1) (oo, =2) U (4, 0) () (-2,)
3 (-24) (@) (o0, 4)
y 20 Functioﬁ f{x)= \ze_‘ 1s &iﬁnotonic increasing when
(1) xeR-[0,2] (2) 0<x<?2
(3) 2<x<eo (4 x<0
:_ we L f (x )_‘ce - umie gdaE ¥ wEls
- (1) xeRr-[02] - @ o<x<2 et
: () 2<x<oo _ 4  x<0
01 _A] - | 7 " [Contd...
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_[ ( . );-dx 1s equal to
T+ x)”

(_1_) o J1+x) 40
/(1+x) +C

J- xe_ G{Y_CBTTE'FI'Q

| (I+x)zzl-;

22

B . .
@) 2 10ge(~‘32+e 2]+(‘
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e/(]'!'X +C

g /(1+\

e’ -1
J . dx is equal to
e +1

1y log, (e' + 1)+ C

X

-1
dx w1 N %
+1 -

J‘L’

1y log, (ex-i-l)-i.*.c

X
Gy 2 loge{e%e 2 ]+C‘

j ;—(:_fr:j 15 equal to

(1) l!Og (x“/( - ))+c

o o

ey
g

(1) : loge (~’£‘4/(Jc4 ~1))+C

3) log, ((x —1)/ | )+C

@)
M

)
e

(2)

(4)

)

4)

2)

(4)

)

)

e'r/(l + xj —F. C
e fie e

e‘/(l+r)+C N

h.etr Ja+ x)+ C :

log, (ex - i)+ C

X
1 - ——
7 loge [92 +e ? ]+C

ke

log, .(ex - 1)+ €

> log, [ez +e 2 ]+C

4110&, ((x"‘_—l)/x“)ﬂr |
log, (x4/ (+* —1))+C

3os ([ 1) /x'wc
loge( yiE -1))+c |
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24 K is e ual to
j \/* +f |
_ (1) 0 _ ¢ I
2 SR
B3 @7
4 -
f ol dy @1 A F .
T Bk TR
G) 3 o -(_‘4)_ 2
_— T L
2
25 J lsin x —cos x| dx is equal to
0 _
(1) 2(\/5 ~1) @ o
Gy 2 -1 (4) 2(J§+1)
2
J ,sin x—cosx[dx H AN
0 .
M 2(¥2 - @ o
Gy V2 -1 | @  2(v2+1)
26  The order of the differential equation of all circles of radius 5 is
(1) 2 (2) 4
(3) 3
sﬁw%wqﬁﬁm%maﬁmwﬁaﬁ&%
(1 2 (2) 4
(G) 3 | @) 1
27 The dlﬂ‘erentlal equation representmg family of curves y =a coswt+bsinax
where a and b are parameters is
() y+y=0 2 y—a?y=o0
G) y+o’y=0 4y p'-y=0
THGH y=acosoi+bsinwt, W a X b e ¥ B Prefm w @
TG TR &
(1) y'+y=0 2 y-aw?y=0
G ywely=o 4) y'-y=0
01_A) 9 {Contd...
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28 Solution of differential equation X:}%*}-‘*-’t" is
Yy =20y (2 2y~.r3_:2C'r
() 2y+ =20y (4) 3 =2C
HIDT T ===y =17 5 gy % o
0 y—xi=20y @) 2p-¥ =50,
G 2y+xi=20y ) y+x?=20y

29

30

31

Solution of differentiaj equation (x+ y)dy = ydy is

() y=Ceov | (2)

y=CeM

CB) x=Ceb (4) x=Ce¥¥

SEET i) (x+y)dy=ya’xl B TH &
(1) y=Cevw (2) y=Ce¥x

(3) x=(e¥¥ @) x=( Yy

Differential equation Xdy—-ydx=0 represents

(ty A rectangular hyperbola (2) A line passing through origin
(3} A parabola (4) A circle

SR THHET X ofy~ pohe =0 Prafrg HYAT

() "uarfy afyureamg (2) 7@ g ¥ s areft
() TH Raerg 4

There are 8 points in a plane and 3

of them are collinear. The number of
straight lines Joining any two of the

mis -

(Iy 26 (2) 25 . + .
. () 24 “4) 28
wwﬁsﬁg%%ﬂﬁasm%rsﬁ@ﬁﬁ‘?ﬁﬁgaﬁaﬁﬁaﬁ
ﬁwﬁm%@aﬁﬁﬁw% .
(1) 26 (2) 25
(3). 24 (4) 28
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In how manv wavs can a committee of 4 be made out of 5 men and 3 womm
containing atleast one woman ?

(1) 65 R 23 70

LT @)

S g i 3 HP'FITGﬁ K49 Fﬁ%ﬁﬁ’f WH aﬁﬁn WHT? :

“-‘;aaﬁsaﬁﬁrwamawmn%mﬁ 2.

W PR RO

")_- . L) 60

L@y e ) 156
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3 72 | 4) 36

fin the 'expans_idh of '(x.+.'a)”-,f_th¢ sum of‘ t_he"qd_d_ terms is A and that' 'o_'f

- even termsis B; then the value of (x2 —az) is "

SRR A%ﬁ_?' o I (2).' AT_pY

w
.

Gy 4ap T @ 2(4-B)

AR (x+a)”'$ﬁmnﬁﬁrqnq€rzﬁrmAamwﬁwuhB€r @
ey

W AE @ gl
) 4 - (4 2(4-B)

B i : . - .
If in the expansion o_f'-[2+:) . the coefficient of x7 and »® are equal, then

n is equal to

M 6 @) ss

_(3)_:45 S 49.

uf?:[ )asﬁwﬁ 731“}'{ saawwﬁ EY .

OF 2) 55
(3) -4_5 N C N
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O,- M ol o L o
KT [ :[T -]':‘ and B = {” J are two matrices, then value of a for which
' 3 _ _
. 42 =5 i.S o _. ' ]
M 1 o _ (2 -1 S
(3) 4~ il (4 Does not exist

37

, ﬁﬂ{ %WB[}ﬂﬁ%ﬁmmwﬁﬁmﬁ

. (1). _1.. | .._.. .. . (2). - o
@4 @ ———
’ 4 7
The inverse of the matrix [1 2] is
2 7 | f2 - - ’
Ol @ |5,
(27 4 7
@1y , @ 1,

38

2 7 . 2 -
() L& 4J | @) LJ 4]

A matrix X has (a+4) rows and (a+2) columns and matrix ¥ has (b+1)

-rows and (a+3) columns. If both X¥ and FY exist, then

() a=3, b=2 (2) a=2 b=3

(3) a=2 b=4 4) a=4 bp=3

h Afgew X F (a+b)qﬁ%ﬁmeﬁT(a+2)W%GﬂTf®WYﬁ(b+l)
ﬂ%WTﬁh(a+ﬂzwm%|mkk?aﬁ}wéﬁi%mw1ﬁ,ﬁ

(1) a=3,b=2 (2) a=2 b=3
(3Y a=2 b=4 \ g (4) a=4 bh=3
0%_A] 12
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a a l+a’

If a#bsc and determinant |p &° 1+4° =0, then

le ¢ 1+

:'_..('l)_ ) 6?‘.546547-6’?0" @) atb=c.

T4 (_:;_3 I+a

oA azbrc AR AR B B 1483|=0, @

c & 1+
(1) a+b+c=0 (2) a+b=c
(3) c-+a;b ' > @ b+c=a
40  The system of equations x;lry+z=0, y+2z=0 and ox+z=0 has more
than one solutions, then the value of o is
(1 1 _ (2) ©
G) - @ 3 |
iy TR PR x4+ y+2=0, y+22=0 &R ax+z=0 & U9 T o
Vel B €, Al o WO %
n 1 @ o0
\ ) 1
(3) -1 ) 3
41 The equation of line passing through the point of intersection of lines
X oy x
LR and P and through the origin is
a b b a
(1) x+y=0 : (2) ax-by=0
3y bx—ay=0 4) x-y=0
N XY Xy . '
et ~t+o=1 3T Fro=1 % yhrede fvg W q@ Rrg @ T 9w
@ w1 e ¥ )
(1) x+y=0 o (2) ax-by=0
3) bx-ay=0 4) x-y=0
01 A} 13 [Contd...




42 H one end of a diameter of the circle - J,}
' then its other end is

() 0.0y - 2 . ')
G) (L I e

e w2y ~4\-6)+11_0%wmw%m(34 I

mﬁmsﬁm

A6y ir=0 s (3 4},

0 ey )
[ o 43 The rocus of the parabola ¥ ;4},_4)( 5 N
‘ L, 2 . L (2 (2,'1)
,- () 0.2 @ (o
T 32 <4y _ay @ iy 2 '
( (1,2 @ @
| 3 0y @ Qo
i C 4 The locus of the point of mtersecnon of perpendlcular tancents of the’ eillpqe
| | 1657 49y = 144 is o
4 M “aytole :'_(2-.)-'-._'1,'24'_);,3-___.'9
g - ) =25 @) x> +y =7

Aefepg 14,2 +9y ~ 144 ﬁww&f%@@%uﬁ@aﬁgm%@a%

=1 if

() xre 226 L@ x? +y =9
3)  «? +}-'2 =25 : o ._ @y x° 4—y" =7
. 22
! 43 I_inp X+my+n=0 is a_tang_ent. I_i_p_e-to the hyperbola ?—i—j-
| (a2 p22 2 J_?z @ a2 = hin?
() a?+p’=p? (12 + ?)12) 4 g2 +bm? = 2
. : ~,
WA T X+tmy+p=0 GJ%WTEI?W 5 —1 ﬁws‘iiﬁvﬁtrf%:
i (0 %2 — bt = o ’ (2) 22 L2 = b2
! ) “2‘*’1"2:”2([2*'”72).' o (4) | azr;z-f-bzmz;n?
OUA) L4

[Co"nid.‘..
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46 CIf p= 4r -S'is a tangent 1o the curve . 2 — = "+¢ at pomt (2,3). then
() p=2g¢=-7 @ pe-2g=7 |
3) - 'p—*?- q*__“”" S ) p’” g=7. 1.
.m%“c@n = 4x 5 Wy npx +q%ﬁ|§ (-,3)wmsﬁ@1% a’r
W prages @ pe-2ge70
@) -;p.—'!_-z,.q—,—*_..—?. @ pea g=7"
47 Functloﬁ f( ) (1—1) ¢* is minimum at
(1) x=-1I (2) x=1
G) x=0 | @) x=2
BT f(x)=(1-x)% " “:EIHT#’ 3
(1) x=-1 2) x=1
3) x=0 _ (4) x=2
48 If &ﬁo,b>0, then maximum value of acos@+5sin@ is
D a+p @) a-b
G) aors @) a2
A a>0,>0, @ acosO+hsing w1 RS a R
1) a+b : 2y a-b
3) amwb @) Ja2ip?
49 The area bounded by the curves y=¢¥, y=¢™ and the line x=1is
(D e+e! - (2) e+e '
(3)  e—elu (4) e+e =2
W y=e¥, y=e TG x=] § iam A 3
(1) e+e’! h ' () ete -l
B) e—e 41 | 4) e+e'-2
01_A] 15 [Contd...



2.3 and v-axis is

S0 The area bounded b;v the curve 1 =4x—-x
4 - 3
(l) 3 I : ¢ ) 4
@ T @y
T Y= ax—xP =3 Ul o oReE A ¥
. 5 @ 3
G) 7 | @ 3
51 Ifthe product of # positive numbers is"], then the sum of these numbers will
never be less than : '
(1 1 2) n
H
() n? Ol
Aty aTTew wEs w1 eEeE 1 ¥, o 3 demel W A o e e
LR _
() 1% (2) n¥
I
Gy =% 4 54
52 The standard deviation of first # natural numbers is
2 2
0 +1 =1
! 2
R T | @) 12
o \)Hz +1 \fnz -1
(3) )
12 i2
W » Tgha demsll &1 AME Rrawd ¥
2 2.
e +1 e -1
1 2
R T @) 12
2 2
- +1 : n -1
3 4
(3) B 4) 5
01_A] 16 [Contd...
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- 53 A die is

‘thrown two times. The

than 4 in each through is

WN o—

R vl

W A e S T

o)

_"'._'(2) |

@

Lt | —

M‘]_»—_"-

L | =

probability of coming up a number more-

54 If P(AmB)=%,P(Zm§)=—-% and 2P(A)=P(B)=p, then p is equa! to

I
W3

P

©)

)

(4)

af P(AmB)=_%,P(Zm§)=~;— 8T 2P(A4)=P(B)=p, it p e &

1
o 5

o |

()

(2)

4)

Wb | —

35 A bag containing balls numbered from-1 to 30. One ball is drawn at random
from these balls. The probability that its number is a multiple of 5 or 7 is

]
(1. 5

1
Gy 3

@)

(@)

2
3

1
4

waﬁﬁlﬁsowamaﬁﬁ%‘%:sﬂﬁ%%ﬂ?ﬁmﬁﬁmeﬁ%lwﬁ?
B TET 5 AT 7 H 0 N @ ipar & .

1
(1) )

(3)
01_A} +

W | —

17

@)

(4)

2
3

PNy
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._m
- .(3)

the identity element in the set / 01‘ Integers under the binary operation ,
defined by a*b=g+h+| v a,beZ is

(i) o . ) -l
(3) 1 : @ 2.-._ o o
’{Um?r EZ m 7 %ar Erfém ?Ef%aq SE axb= a'+zj+-'z_..-vj abe7 3,
' ';'(2)
Let G bt, a group ‘such that ofd’ér of G is 13, then G is _
(1) An abelian group o (2). A cyclic group
e Abehan and cyclic both (4} Neither abelian nor cyclic
RIERER R WEl G B wifx 13% At G #m
() & s g 2) % wmlr gy
(3)  erfeET ok wmr oy ) 7 sRfrm 5 oy

A stbgroup of the mult:phcatwe group G = {1, w, W?‘}, where w is a complex

‘cube root of unity is

AU &
3 {Lw} - 0

'_?:If%‘wsaﬂémqaaeﬁqsraﬂﬁ% a’rmw(’ {I unv}mq-q;

TS Sl
(n {w, “,2} ' (2) {i, 11*2}
G {1} & {1
o (1 2 3 4 [t 2 3 4 _
59 Iff= 32 4 | and §= 4 1 2 3 ) aretwo permutations on a set
{1.2,3, 4} then Jog is equal to
(1) 23 S ¢ I )
3) (23) S @ a3
L, (123 4 (123 4 o
?Tf?‘:_f:(j - 1) v g=(4_: L2 3_] W= {1,2,3,4) w g
T E, T fog s & -
() (23) | @ a2
_ Gy (123) . @ a3 _
L01_A) 15 7 [Cond..,
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60 IMH isa subgroup of a 01'0{1;3_' (i then which one of the following
- statements s mcorrcct ? ' '
A Hn-— 1fand on]yit aeH
2" Ha=Hb i and only it ba' e H
N '('3') Ot der ofH dmdes Ordel of (:
' _uﬁ: Hﬁﬁﬁ'fﬂ{éowqmm'é‘r mﬁmmﬂﬁﬁmmm%
(1) Hﬂﬁ’aﬁti‘hﬁﬁﬂﬁaeli o -
(). Ha=Hp o ol e AR ba~ € H
3) H@& &R G R B el ad @
@ Hl'=H
61 Let G={Z,+) be the additive group of integers _'énd Tet
' H =3Z={3x|xe Z} be a subgroup of G, then order of the-quot_iént'_ group |
G/H is
ay 2 : @2) 3
3) 4 Co- {4) Infinite
o G=(z.+) @ gfew & faw quist w1 @ % GﬂT Hrrﬂ
H=37={3x|xez}, G T S0e &, o fevam w8 G/H a%’fﬁ%s‘rr‘i’r.
(1 2 @ 3 | |
3) 4 {(4) &4
62 Let (R, +) be the additive group of real numbers and let (fﬁ,") be the
multiplicative group of positive real numbers, then mappihg fiR—=RY a
defined by f(x)=e* ¥V xeR is
{1} Only homoniorphism (2) Only monomorphism.
(3) Only epimorphism (4) An isomorphism |
A (R, +) WW%WWW@WH&%%@TW (R*" )
Hﬁm%ﬁ%qaﬁmmar&rﬁmﬁwaﬁmw% B S R->R+
Wl f{x)=e' V xeR & @M
(1) e @it ©) e el TR
(3) Haw STEEH YHIHT @4) ©E geEm@
01_Aj 19 [Contd...
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63

Which one of the tollowing statements is correct. ?
(1) Every finite integral domain is a field
(2) Inaring a-b=0= cither a=0 or H=0
(3) Every finite ring is an integral domain o :
(4.)' The set of natural numbers ¥ is & rng with Tespect to “binary -
compos:tlons usual addmon and multtphoat:on - - '
P e ¥ Y v wa
(1) 'mw&&;ﬁ{vﬁaﬁumw%ﬁm%
2) Waea ¥ a-b=0= g= 0 p=g
(3) wIw it Tww T Tfﬁ?éﬁ I i _ '
(4) WH@T@#WH&?@N WTET Ay aﬂ?jﬁﬂeﬁﬁmaﬁ%mﬁaqzﬁ
. TEE R
64 The set Z4={Ol 2,3}, under binary compositions addition and
multiplication modulo 4 is
(1) A field (2) A division ring
(3) A ring without zero divisor (4) A ring with zero divisor
' 7, ={0,1,2,3}, trhaﬂigrvﬁrhagammaﬁ%ﬁm%
(1) ©s &= 2) uh R Tog
B) U wEE W Twm 4) 2 v~ e aer
65 Total number of ideals of the ring (Z— {0 1,2,3,4}, 45, ><5) is
o1 2) 2
(3) 3 4 4 _
aw (Z5={0,1,2,3, 4}, +5.%s5) F WA TorSTART @ den &
() 1 2) 2
3) 3 4) 4
66 If o, 8, v are the roots of the equation 3 —pr +gx—r =0, then the value
“of (o+B)(B+v) Jy+a) is
M pg-r @) p-rq
Gy plg+r) @ plg-r)
e o, B,y qHrEHTor x3—px2+qx—r=0 ;‘ktﬁfﬁ, ar
(erf)(B+y)(yro) mam s
(1) pg-r (2) p-rq
B plg+r) 4 plg-r)
01 A] 20 [Contd...
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87 the polynomial f(x) 27 pe ~7Sk is divided by x, the remainder is -
' hO rhen the vaiue of!r will be ' '
(I) —2 T (2) -1

() ‘. '_ S e 2

68 If the roots of the equation x> —12x2 +39x-28=0 are tn AP, then
difference bctween two of its roots is

RO (2) 2
(3) 3 4 3

R FETT 3 ~12x% 4305 - 28 = 0 % o R A0 A &, FF 5% @ oy
1 oA &

(y 1 2 2

G 3 - @ B

69 If x> -3x+2 is a factor of y? —pxt+q, then

(1) p=s5,g=2 (2) p=5,qg=4
(3) p=-5 g=-4 4 p=-5 g=4

W x*-3ve2 g T el g B UE P EE A @

(1) p=5 g=2 2) p=5 g=4
3) p=-5 g=-4 4 p=-5, g=4
70 The number of real roots of the equation 2x° +3x £ x2 4 7= 0 1s
(1 2 (2) 4
By 6 4 0
TG 2% +3x0 ¥ 22 +7=0 F o wreafm ot @ wen 2
(1) 2 2) 4 '
(3) 6 “ 0
01 A} 21 [Contd...
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L 2,2 : \ '
71 If fagip t| 2D , then '\_2[4_)2{ 1s equal to
' ) dy

X+ ¥ X
1y f A @
3y sin S @) tanf
trf%{ f'—sm ( } J, FIB[ l—_+},_w% C oo
s E ® ¥ __
Q) sing | @ty
72 The value of p for which the radius df Curvature of the curve 42 2py at
the point (0, 0) is 3, will be
(ty 3 2) 2
G) i 4y 2.5
P H AT forwd g a2 =2py a%’r%g(o O)Q'{a?ﬁmf%lws 3, B
1) 3 2 2
¢ ) 2.5
73 The curve 2x —Sry 2y? =1 has two asymptotes that are
(]) Parallel - (2) Perpendlcular '
(3)  Intersect at an angle 45° (4) Intersect at an angle 60°
B 267 3xy-2)° =1% 3 oprrst ¥ =y
() @< % (2) weEq ¥
(3)  45° o wirede o ¥ (@) 60° W e gy 3
74 Minimum valye of function Sz, y)z.'cy+-1—-i-i is
£y
(H 3 @ 2
() 1 @ o
KL S ) PRI A e 3
Xy
ONE N @ 2
(3) 1 @ o
0L A) 22
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; ~ .75 The value of the integral J J (.\'2 +}-‘2) v dy is

! 0 _
RO N @ 0
o -
) 3 @ 3
i 760 1f F(x)=3 =552+ 2x then the interval for which J satisfed all the-_ .
- COI‘]dlthHS of Roll's theorem is '
w 1l @ [
NOE 10] - - @ 2] | S
) | Tﬁ% f(x) 3x —5x +2r ﬁ%ma%amfﬂauﬁuﬁsmﬁsﬁwﬁj'
'_ W o . @ [-u1]
3y [-1,0] @ [,2]

77 lf Fx)= x| ‘v"- x € R, then the interval for which / satisfied all the condmons -
of Lagrange's mean value theorem is '

M [-u] @ [21]
(é)_ [-1,2] @ [12]

R f(x)=[x V xer, a’rasawﬁmwfamwuﬁw?ﬁw;
vr%w‘ra?rngmg T

__'(1)_ -1 ) @ 2]

-[.— ~] - @ [u2]
01 Al o 3 | . [Contd.
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78  Seguence <'~ =

N

11 Vo
R ) is

[
..1_‘
3

£ | —

{1} Monotonic but nor bounded -
5 {2}  Bounded but not monotonic
: (3} - M.o'_noto'n_ii:.a'nd bounded
S (#) - Neither monotonic nor bounded -_
Y 1
W(\ 27 s T >%
(2 dfEs g wEhtw w
(3) uwslisr ot ufies
4) 7 wslke 7 uieg
x x2S
79 For x>0, the series —— +-—— 4 2 |
2 3.4 6
() x>l @ X2
3) x<1 4 x=1
¥ ooyl 3
x>0 % Rgeely T, Homrd &, afy
ST 12 3.4 5.
() x>1 . 2y xzI
(3) x<1 . 4) x=1
2 3 a4
80  The series ——+—J—+—-—+ ................ is
L T 4
(1) Convergent if p=2 and divergent if p<2
(2)  Convergent if p>2 and divergent if p<2
(3} Convergent if p<2 and divergent if p>2
{(4) Convergent if p<?2 and divergent it pz2
> 2 /]
goff =4 2,4,
17 2P 3P _— -
() efrrd ¥ aftp>2 o ommard & 2R pey
(2) afgrd & afy 550 #R eryardl ¥ Al <o
(3) ofeard ¥ R p<n ST SrEd ¥ af po
4) ol ¥ ol pos ST T ¥ AR p2o
01 _Aj 24 '

............ Is convergent if

e e e
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The iunu.on flep=] ~i” '

(N Everywhere analytic

(2} ~Nowhere analytic -

' (_3.-)__- _-'_Analytic only at .z_=:_

@) _}xnalync'onf'}- at 7=+

-_:__',"H‘!?f %@aﬁ ‘T{ ﬁ:&?rﬁma %
@) wE @ %rsﬁfw T8 %

§2

83

‘(3)  h{z)=sinz

=0 T frgdfies ¥
=14/ UT faseifye &

3) Faw :
(4) wad z
Let f(z)=u(x,y}+i8({x,») be an analytic function such that

w{x, y}=e cosy, then #{x, y) is equal to

(13 eSsiny+C (2) eYeosx+(

(3) _ e (4) e Veosx+(
T f(z)=u(x, y)+i &y, y) T@ Raseiles waT ¥, et u(x, y)=ecosy

g, 9(x,y) FTUE BAW

Ysin y+C

(1) e siny+C (2) eYcosx+C

cosx+(

(3) ¢ Fsiny+C 4y 7

Which one of the following functions is not differentiable at any point of its
domain ? '

) ()= @)

- o(z)=

- ﬁamwﬁqummaﬁmsﬁgwmﬁmﬁ%?

(N j'(z):ez ' (2) g(z)z?
. B
(3) H{z)=sinz (4) qb(z)=l_‘
01_A] 25 [Contd...




84  For which one of the tollowing conditions the tunction f{z) =*:*E:————-
. 273542
is continuous for allz 7 _
(]) Tnside the circle |z ;- 2 (2)  Inside the cm,le 17*”: 2
- (3 ) Oumde the urcle !z[— 2 - (4)  Outside the cn‘cle ] f*l
+l
_'ﬁwwﬁraﬂmﬁﬁamﬂfﬁ%f&mwf ) 2 - a;qaﬁqm}a;
m _ ]4:2-2‘5'\31:&? @) Ta [z'—1[=2%aa’ra'?_
() T [=2 ¥ awx ) T o]=1 F waw
85 If a function Sz} =u(x, p)+i 9 (x, ) be analytic in a domain 1), then
Cauchy - Riemann equations are
anﬂ__a_zi @_af} : _Qz_r 315‘ E)u 819
DA PR wEb v o ) o Y or
N E)u___gﬁ‘f)_éi__g_z?_ : | gﬁ_h 98 Ju .98
(3) dx I o ) I g’ dy h ox -
qE UF B )‘"(z)*-n(r y)+_i 9 (x, ¥) Gmef =T D f{ ﬁi?ﬁﬁiﬁﬁ Bsf, ol
BN Wl 3 |
au_mgzg‘gg_aﬁ . i}’_" 99 au E)z?
(D) dr Iy ox _ (2) dx ay ay E™
by 20_99 dn_ 9w 9u_ 99 3p
) dx W'Y ax ) Xy x
3
oy 7
86  The solution of the differential equation V= 2x—* ) y2(-‘§—] is
_ i oy :
{(nH y3 =2cx+¢° (2‘) Y=cp+c?
G)  y=cxrel @ xr=20p4d
. _ 7 RS
HT weercoy y=2xi‘£+y2(9~_) IR
_ dx o
(1) }’2 =2cx+¢3 (2) x:cy-h::'2
G y=cite? 4 x2 =2cy+¢’ o
01_A] 26 [Contd...
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87 = The general so]unon of lhe dtﬂelentzal equation }'ﬁ"‘T;*h’“t’ is
o _ dx ’ ;
IO VR : e | i
e -y=cle“'+628’?’_“f§.-‘re‘_f. (2) y=eeHope Pt i
(3) _}-—cle +02e 2“ 6x2e“' | (4) y_n.cig_. +ma.'.%‘ 2._r_ et :
b em'csa aﬁﬁw Tg+-§~~2y =o' em anqzs '5%1' :
dx™ 6
1)y y= cle +cze ¥t 3x_e“ @ y__=-_c,_.e-'r:+_c.ze ‘+Ee‘ ,
. _ ' - . YV |
(3) y=ce +epe 2 +éx2 e* (4) y=ce’ +eope 2 +a2-x2 e’
88 The solution of the differential equation ngf_?y+x;§’_y:x2 is
dx X
2 el
(1) y=ce toe - (@) y=aetee t—
. 2
. 2x -
: e
(3) y=clx+c—2+£- 4 y= clx+c—2+
x 3 X 3
STahT THTh oY xZg—y+xd—y—y:x2 i
' A dx
2 Lo |
(N y:clex+cge +— (2) y:clex+cze’x+-—3—, o
k) Co - L
2 2x
X e
(3) y=c1x+£~2—+7 4 y= cix+-2—+
; X 3 . X 3
890 If @ and b are arbitrary constants, then the partial differential equat'ion of !
z=ax+ az'y2 +5h 18
2
(1) pP=yq @  p=xq*
Gy gq=29" @ g=23p" '
A o ol b S SRR, T 7 = ax+aly? +b B S B THBT §
L4 2' ’ N -
1 p=yq 2) p=xq*
@) gq=20 @ q=2p" -
01_A] 27 [Contd...
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90

+z

. Solution of the partial differeritiaf equation (yz 2 ~X2) p; ¥2x1ch+ 2xz=0
. is B ’ ST

6 ¢
' s o222
@ (IJ[;, x )x Ll 0

I AN A
If-7 =xi+y j+zk and r:]?|, then gradient of c’”z

1S
Y
{1 ¢ r
) (2) 23‘"2?
- I !'2__) 7
G) 5 e @) 27T

r

- A A A - 2
AE F =xityjrak = "B gem
Y+ kGﬂIr_fr[,Fﬁe’ CHl S

a1 r2 -
) ey €3 2er2 _.;}
3 1 3'2 - 7
* L . 2
(-’) 2 € 7 (4) Zer _r_
0F_A| ’

28 [Contd...

Lo

SR

" L.
¥
H

CF
H




92 The directional derivative of ¢ =xy+ yz+zv at the point (1, 2, 0) in the
d_i..l.'.C_Ct.iD_ﬁ: of the vector j+ 2;'-:- 2k is

| ﬁ’-g (1 2 O)t{T gb xy+y"+z‘*i\” Wﬁiﬁ\@aaﬁﬁa Hﬁi’-‘n;\+2;+2£ ﬁﬁ?ﬂ -

(1) 5 @ 10 o §

8
(3) 3 (4) 3

= - A A A
93 If 'a is a constant vector and =xi+yj+zk, then Vx(?;x;}) is
equal to
—_—

M 7 @ 3

—_—

(3) 2a - @ 34
T o T aRART AT 7 =x ey ek A, A Vx(axr) B wE

M @ ® 3 ) |

(3) 2a @ 3

-
Fas Fat

- A - : . S r
M I r=xi+yj+zk and | r |=#, then the value of divergence of — is
_ _ PR
1
M - @)

¥

IM ~ |t

2
G - *)

F

]
o

A " A - B

e —!?=xr'+yj+zk GUT [?l-—*r, @ - BT ATAOT & f
\ -

1 E

ORI @)

5 :
G - (4)

“‘MIM ~{N

PR T e

01_AY 29 [Contd...




95 7 _[ = {‘r? - '1:'?;},*4 v, and ¢ m the are of the curve }.!:.1—3 from (O, 0] to
frS
(2.8 ther: the valug of l iy
: S A
iy M2
S (3): = S (4) .21_ _

Ay
LA Fdr gam
412 5 412
(i) 7 (2) )
. 824 824
96  The equation of the plane passing through the points (2, 3; 1) and (=4, 5, 3)
and parallel to x-axis is e
(1) Y-yp+z=2 (2) 3x+4z=1
3y ¥y+4r-7=0 4y y-z=2=0
S HTE w ST S fgelt (2, 3, 1) ot (4, s, 3) ® o ¥ ohve i
X-3T81 & WA ¥, AW - |
(1) x~y+z=2 (2} 3x+4z=1
(3) yYH+dz-7=0 4 y-z-2=0
97 The length of perpendicular from ihe point (I, 2, 3) to the line
X~6_y-7 z-7
3 2 o s
(1) 3 (2) 5
) 7 COREN
X-6 y-7 z-7
T 2 = —_— . = —
g (1,2, 3) 3 T 3 5 > B wEaq gl ¥
(3 | @ 5
E | @ Je6 |
01_Aj 30 | - [Contd...
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98 If 'a'ny tang.ent plane to the sphere x2 4+ y2 4z =2 makes intercepts
. a, b, ¢ on the co-ordinate.axes, then
(1) a®+p2 e’ =42 (2) %+%+L2=L2
. o < U R -
@ };2_(02.%2 H,z_) i @ .,}5;+L2._+i2-=;,._2
T LT at b et

AR a2y a2 a o wdh w P ol ¥ a, b, w

AN @b o @ PR
" | 1.1 1
” .2( 2 12 2)_ : R B
rela“+b8° +c¢”)1=1 4 tst g =r
(3) | 4) 2l

99  The equation of"a right circular cone whose vertex is origin, axis Z-axis and
- semivertical angle ¢ 1is
() P4yt =sec’a @ Z2+xt =% tan’a
) st+yi=tnlea @) y+r=x’tan’a
T g ¥ &1 wiew Rrae s gwReg, em Z-ew g sidem
o %, W S |
(1) ¥ -i-'yzzz2 sec o - 2) z2+x2=y2tan2a
() *+y?=ztan’a @ Y+ =x*tan’a
100 The equation of a right circular cylinder whose guiding curve is
2 +'y2.+32 =9 x—y+z=3 will be
(1) x2+y2+22+xy+yz-zx—9.=0
(2) .\'2+y2+zz+xy-yz+zx—9=0
BG) +yP e+t —xytyr+ax—9=0
(4} x2+y2+zz+xy+yz+zx—9=0
T mEgwE daq & weiee e el aw 12+ 2422 =0,
X—-y+z=3 T, e '
) x2+y2+22+xy+yz—zx—9=0
2 Py ety —9=0
(3) Jf2+y2+z2—xy+yz%zxw9=0
(4) >x2+y2+zz+jry+yzf+zx—9=0
01_A] IS | [Contd...




101 Let O be the circumcentre of triangle 4AC. I three .force_s £, O R acting
along OA, OB, OC are in equitibrium, then P : () : R is equal to '

(1) sind :sinB :sinC
@) $in24 1 sin2B : sin 2C
(3} cosA :cosB _coé,_C _
_ _(4). 'cbsEA_ 1 COS 2B cos 2C | N A

T BT ARC ® W O %1% 04, 08, 0C & o o d g
4 Q,"Rwﬁqfi’é‘f,ﬁﬁzp-:Q:’RW%__ | | T
(1Y sind :sin B :sinC " |
(2) sin24 :sin 2B - sin 2C
(3) cosd :cosRB : cosC

(4)  cos24 :cos2B : cos 2C _ . I

102 Three forces P O, R are acting along sides BC, C4 and AR of a triangle
ABC If their resultant passes through the incentre, then '

(1) PcosA+Qcos B+RcosC =0
(2 P+Q+R=0
(3) - PsecA+QsecB+RsecC=0
i (4) P cosec A+ coseéB:chosecC=0'
A 9w L QR wmn Brgst ABC B qeelt BC, CA qor AB & st

et 1 ol s ol e & W TeEr &, o
(1) PcosA+QcosB+RcosC =0

(2) P+Q+R=0 -

(3) PsecA+QsecB+Rsec(C=0

{(4) P cosec A+Q cosec B+ R cosec C =0

103 If 2 is the angle of friction, then the least force required to buil a body of
weight /¥ on a rough horizontal plane is

(1) WecosA (2) Wtan A
(3) Wsech @) Wsini
A A B, @ s T R ot w AR e o g i
forg smayasm 2em aw ¥ -
(1) Wecosd (2) Wtan A )
(3) WsecA 4) Wsind

01_A] 3 - [Contd...
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104 A body of weight W .on 2 rough inclined plane is in limiting equilibrium,
If coefficient of friction 18 _ﬁ then the inclination of plane with

horizontal is -

W e @ e
(‘3) 450 S E B (4) _-_300‘

WW%T_@I_WWEHWW@WWﬁ%IH%WW

N Eﬁ,‘_}_a’r E’Hﬁﬁ @ %ﬁm FgEaE
(1)750 - : @ &
(3) 45° | @ 30

105 Which one of the following equations, is the cartesian equation of catenary 7

(1) s=ctany (2 y=cCos h(‘;]
(3) s=ysiny (4) S:CSinh(E)
ey TRl ¥ Y RN B FRA FHET T

(1) s=ctany | (2) Yy=cceos h[*z')
3) s=ysiny (4) S“—‘CSiHh(%)

106 If a particle describes the curve ;= ge? with constant angular velocity, then

its radial acceleration is equal to

(1) e ) 26
@ 0 (4) 38

uﬁ'wwaﬂ'{aﬁﬂﬁﬁﬁﬂ@rﬂﬂi ,-:aeem%,ﬁmmawﬁm

v 2 «2
(1) rb (2) 28
+2
3 0 4) 3r6
01_A] 33 [Contd...
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107 If the tangential and normal components of acceleration of a moving particle
be always equal, then the velocity varies as -

{

[y ¥

v

Eﬁwm maﬁﬁrﬁ

(3) 2 &

(2) 2w
_ .
@y Y

2

- (2) ezqr %5

168 A particle executing simple harmonic motion has acceleration 8 cm/sec?
- when its distance: 2 cm from the centre. The time period will be

e e A A A L R L

P

e

/4
(I) = second _ (2) 7 second
5 L oond b2 secon
3) S secon (4) - secon

wmweﬂaﬁwﬁrévﬁﬂm%mﬁwmﬂﬁﬁzﬂﬁﬁ@wm
8 TNAFvel A, emadmer B :

(1) gaa;ug () 7 Y¥Ue '
3 _I"l?!aiﬂg: | ™ zv?;%sug
() - | @ =

109 A particle moving with simple harmonic motion has an amplitude a. Tts
distance from the tentre where the vetocity is half of the maximum velocity

will be

+ 4 + 4
R a3
(3) Nz 4y + 5

wwmmnﬁfﬁnﬁrw%mma%rﬁ%wﬁ@
STel 9T 1 A siftE AT o amen &, e

e
O *z @ *3
a a3
® *5 @
01_A) 34 [Contd...
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llﬂ [f a particle is pmmued from a fixed point with initial »douw i at an angle
o with the horizontal, tlu,n horizontal range is A

. u. sin 2 ' o H Sm(x {

(1) e 2y — R
S .. -?fzsinw 4 uzsin(x i
SO TR ey

”Mﬁwwﬁmwmﬁ

"'_én%%%ﬂﬁaﬁvrwgumw
I) H sm’?()‘ - _ (2.. - f_z_s_m_g
N ff: sin2q N ' ' N u? sing _
| G Dl | (4) e

111 The linear transformatlon 3% (R)-—)V (R_) such that 1(2,3}=(12,15) and
1{1,0)=(0,0) is. defined by '

Ty ;(.\-,._r2)=(xr”"234-"2) 1 {x, ) (4,\?2,51;2) |
. ) (3) 1{x),x3)=(4x,, 5%,) 4y r(x, rz) (x1+x2 Xp— ) o
- - Y w4, (R)—-) VQ(R) wRT 1(2,3) =( s)e?R (1, o)-= 0) %,
. feaRg @ - I
MW rfnn)=(n-nam) @ f(xiex2)'=(45fz+_5_fz_)_ |
(). 7{x1. x3) =(4x,5%;) | (4) z‘(Jrl,xz):(xl+.r2,x[-—x2) :

112 in a metric space (.Y, d) which of the following statements 18 conect ?
(1) X is open but not closed
(2) Every open set is an open sphere _
(3) For a closed set A, A=4 .where A denotes the closure of A.
{4) Every open sphere is an opén interval

| uE gl e (X, d) ¥, Prew ¥ d we w3
i (1) X Tuga & weg daa & |
) v¥% R wqoE T frga e gt

' : 3) ﬁ?{%{ﬂﬂﬁlﬂAﬁ?ﬁiQZ:AﬁﬁZ,Am-W%

; | (4) W% faga e @ Rrga emrow g @
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13 If.J, (\) denotes Bessel's function of first kind, then the value of 2nJ, (x) is

“) n ]( ) .‘)!.H'I (l)

_ . (3) '((.f”_{_}( ) Jn l()) o _ o
o aﬁ{ Jn(x) uwm%éﬁawﬁu@hm% ?ﬁ 2nJ,,(x) mrn-rr%;
(}) :-} lx) J}:+I( ) : -'
G .x(JHH__( x)= - ()

114

_ 1 .
The value of L ’{ 3} is
| (p+a)

(0 %‘(2 o

3) 1,2 o

L"l{ } & A ¥
(p+a)

(i) > :‘2 e--m‘

3) %‘,2 o

(2)- \-('];H-]( )+Jn I( )) I
(4) None of fhese |

(2) x( n-f—l(x) P l(x))
@) THISET

(2) roo

(4) None of these

@) 2o

@) T 9§ B T

115 The curvature for the circular helix x=acosB, y=asind, z=a0coter is
. 2 2.
sin” cos” o
] 2
(1) o (2) Py
“cos’ o sin? ¢
(3) (4) :
a a
I BFT X =acosh, y=asinb, z—abcotor F T amat @ W %
i ) 2
sin“ o cos” o
| 2
( 2a ) 2a
7 2 : .2
- cos“ ¢ sin“ ¢
(3) | @ -
a : 41
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116 The value of [ij, k]+[k7.i] is

_ ogj; : _ | Igik
N T ©
N 1 agm _I - g
B R X _
BN AT [U k] [’9 ] £ 13n=r % o T
| “a«f S P
T 08 | | 92
2 uly
; ) 35, @) ™ i
; 117 A second degree polynomial passes through the inntS 0, D), (1,3),2, 7
i and (J 13) then that polynomial is 1
- (1) f(x)=xP-r+l @) f(x)=xP-x=1
B)  f(x)=xP+x+] @ flx)=x*+2x+1
u fmeagme (0, 1), (L 3), (2. 7) aa (3, 13) fage & o &, o 9%
UL B _
(D -f(x)=x2—.\:+1 (2) f(x)¥x2_—x—1
(G)  Fx)=x"+x+1 @ s(x)=xt 20l
: 118 If f(x) =£, then the value of AZ S@) is
¥ bh.c
a ' b
O N @ =
! | 2
(3) abc ’ ) ahe
AR ()= A A S@ m ok
3 a b
; 0 2 L @
a o N
() e @ abe
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119 Which of the following is not a convex sei ?

120

()

In an assignment problem with m-jobs and m-persons, the number of
basic variables at zero level in a basic feasible solution is

(M m () m+1i
3y m-1 (4) None of these - ‘
qzsﬁuavmﬁraanﬂﬁzﬁ&aﬁ'{m ey %, anar&gwmsﬁ“&i%t{

_mmwaﬂuﬁaﬁﬁm%

n m. 2y m+1
(3) m= 1 ' “4) T w
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121 The I\nowicdue of Educational psy choloz,v 15 mpo:tdm for a teachor. because -

(1) . Hehasto appiy the principles ot -educational pwchoiusc,\.r to s jub of
- teaching.

(2) He has no- consxdelalmn tor mdmdual dlﬁ'eiences among leamers

. whlle teaciing the class.

(3) The laws of: human development has no place 111 teachmg _]Ob

(4) : Process of ]earnmg has nothmg to- do with hls teachmo professmn
asww%ﬁaqfswm‘rﬁﬁrﬂwm%ﬁr@%wﬁﬁ e
Q) e R T 3 ﬁﬁ%—cr fa@m @ o ﬁmm amf er ut?rrr m SRR P

-a?n% .

"(2:')' qE HeTT- aeaﬁ%wmweqﬁqmﬁﬁan%éﬁ%a&mmﬁmﬁm :

B RyaT 78 W@ ¥
(3) ﬁTWWﬁmﬁeﬁﬁﬁ%ﬁm%ﬁuﬁfaﬂaﬁéWﬁﬁ%:
@) % R weagE & ety & B g9y Wl

122  An effective teacher includes his learners in group activities besides making
learning easy, it develops
(1) Conflict (2) Socialization )
(3) Value conflicts (4) Anxiety _
e g R er afrrediel @ wmike Branel ¥ whafwd @ ¥,
(1) dad (2) GASIHL |
(3) T B 4) ghaw
123 Learning determines the efforts to achieve the target in Educational
Psychology, it belongs to the class of learning
(1) Learning process 2) Clelaracteristics of learning
(3) Laws of ‘learning (4) Theofiés of learning
“fren e Qe awmmﬁ%wa’rﬁﬁrﬁmm% v
75 e @ frg o ¥ e ¥, ww ¥
(1) aferm whea (2) arftrmr @ Rrshoand
() oiltrm % T () afrm 3 Rea
oAl 39 o [Contd...
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' 124 "Development spr outs the new characteristics and abilities in a person"

It is stated by . _ S
(1 Heriock S o L (2). Jame's- Draver__ -

(). McDougall : -~ . .(® Munaro - o
| ﬁlﬁmﬁqﬁﬁﬁﬂﬁ’ﬁﬁﬁm@ﬁmu@ﬁﬁw% ugmﬁ%
ay wEm o @ @ﬂﬁ;‘ﬂ |
o togm - '(4) T

126

The process, through which a person learns to behave by mutual dependence
for human welfare is

(1)  Socialization ' (2) Linguistic development
(3) Individual value (4) Social maturity

WW%@%WW%WW%‘&WWW@@W
3, 9% afewm ¥

(1) gwwshE (2) W R
(3) afes e (4) - wmReTE wfiermer

"Adolescence is a new birth for the higher and wide completely human
tracts are new born." This statement is given by

(1) Johns and Simpson (2) Gessel
(3) Stanley Hall 4 Godfrey

rsTRraren wan T T %, sEd S ol dreat we fastyarel @ =g
AT %, U8 HOH N 9 2

(1) W+ uvg Rymes (2) raa
(3) WA TW 4) TeEn
127 The study material of adolescents due to critical stage should be
(1) Physical (2) Mental
(3) Intellectual (4) Related with Body and Mind
fepgil 1 wifem sraeen & wor Regid & sremm @ frem @ i
(1) smife , (2) WHRE
(3) d@fe® (4) T FA HAEGH)
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128 “Adolescent is the age of ureat ideals and the beginning of theories as well
as the time of simple adopuon o life.” This definition is given by
{13 Hadow Report | (2} Jean Diaget ' ~
{3} Frederick Tracy {(4) E. A Peel
i smaeh @ e ¥, R ﬁaﬁrrﬁvra?ramm% marfrsﬁaﬁ
WWG’T@W% trftr&mm%qzrm% o
'._u)%@?rﬁqﬁ | Gﬁ?ﬁmﬁ
wﬁ‘cﬁ ?3?[ (4) é T t‘nﬁ
Accordmw to P1aget $ cocmtwe theory of it,ammg the pmcess by whlch the o
o corrmtwe structure is modified, is. cailed
{1) Schema . (2 Perception
@) 'Accommodation ~(4)  Assimilation L
o qﬁmﬁ%ﬂﬁwm%ﬁwa@mﬁwﬁﬁmw
dE @) daiiie fear W ¥, weewl @
(1) @ _ (2) T
(3) g (4) FEEYH/ANYE
130 A student is aggressive in his behaviour towards his peer group and does not
conform 1o the norms of the school, the student needs help in
(1) Psychomotor Domain (2) Affective Domain
(3) Higher order thmkmo skills  (4) Cognitive Domain _
wa frell ey wws @Al ¥ auE % URT ST SEeR B § ok
Rrerterer % et @ R ARG, 39 e a?rﬁ:wmma%mam%
qE B
(1) AT ?&ﬁ C(2)  ATERER &
(3), wEwE R Bivw (4) GBI
131 The influencing factors of the process of learning between stimulus and
response are
(1) Desire and Individuality of a Person
(2) Emotions and Desire of a Person
(3) Emotions and Ability of a Person
(4) All above
aﬁwammﬁﬁmﬁaqwéﬁ@%ﬁMaﬁumﬁﬁaﬂﬁaﬁaﬁ%
(1) =i e dafear da gesd
(2) =R B B TAT HEAG
(3) eufm &1 WEA qe &
(@) Swde wW
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(3) UTYE® (4) trdsm

‘We can not observe learning, we see only, what proceeds performance,

it means _

(1) Ali living is learning

(2) Learning is adjusiment

3) Learning' is result of practice

(4) Learnmg is not directly observable- : ' '
maﬂrmmagﬂaﬂé’rmwﬁ%% w%wu%%@m%ﬁﬁa%ﬁﬁr
Htﬁﬁmtgeim S el ¥, AT ?rrcqﬁ &

(1), Wi wle uw et &

@) ofym guEem

@) fwm orem W owRomWm ¥

@)  FRFm e ey Frieer & g @

Learning is not possible without

(1) Motivation {2) Teacher
(3) Text-book | . (4) Guidance
(1) won (2) fverm

The basis of constructivist principle teaching is

(1) Learning by doing

(2) Listening to the teacher _
(3) Repeating the content spoken by the teacher
(4) Relation between the teacher and the student

TN TRt g snenfa e &1 ere ®
(1) &% gre

(2) TS Bl G

(3) OB HIUT [V A Bl QST

(4) oremiues qun emedt ¥ ey

"Mental Health i1s the full and harmonious functioning of the whole

Personality". This definition is given by

(1) Hadfield (2) Ladell

(3) Kuppuswami (4) . Skinner
“W%WWW&WHmWW% v’ g% afvmEr 39
EILE

(1) Fewie (2) R

-G FgEE @4 faw
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_ 136 Which of the following statement is correct ?
.i (1) Life is particular activity of adjustment. e
v (2) Adjustmém is individual process.

@) _Ad_]USthHt ts the process by which the individual atempts to maintain
a level of psychological and physiological equilibrium.

4) Adjustment is connected with education. ’
0 F B BT e E 7

(1) st o & fafire frr 3

; : C(2) ewmEeE dufeas wREW R |

11 : B wHAIE 95 wiean el uw s widentes qan srdfe dgew
T @ E WS HET §

(4) s e @ et e ¥

T

137 Unsympathetic and harsh attitude of the teacher Influence the
(1) Health (2}  Adjusiment
{3} Home assignment (4) Aptitude
e @ sremRgd aw @R ehew v B 3
() @mer - (@) wmEeE
¢y Tt ROWE- &

138 Which of the following helps in the development of mental health of a
learner ?

(1) Failure of parents to give their child a proper care and affection

(2) Excess cove and affection given by the parents to their children
(3) The appropeiate behaviour of parents towards their children
(4) The restrictions imposed by the parents on their childre=
wﬁmaﬁ%ﬁnﬁmwzﬁﬁmﬂnv T L T aEan @i & 7
(i M:L:_"r'.". Wi e 18 G AT @ SrEhaA B
L@ e T e gl @ el @ @ e s
T (3) emfr aﬁfr 33 rr% Trar-frar @ ofew =Eer
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139 A teacher remains maladjusted because of
(1) Happy family life
(2} Better earlier experience’
(3) No linking with profession
(4)- ‘Unusual involvement in politics

% et & puarii B BT BRe ¥
(1) gug urliafe e

2) ™ % g oy

(3) g™ ¥ g9y T8 e

(4) Tt W aramias R

140 "Communication is the sharing of ideas and feelings in a mood of mutuality".
This definition is given by

(1) Herbert - (2) Edger Dale

(3) Robert Magar (4) B. S. Bloom

‘g frEw fatvE F 2 (mood) ¥ R aw wEmel @Y v s
a1 geH B uRsn ¥ 17 ge aRww 3% oW ¥

(1 =z (@) T
(3) e AW 4y & v =@
141 Which of the following is not main function of the commumcatlon ?
(1) Give information (2} To give message
(3) To promote mutual trust (4) To talk face to face
o A A @y A e wrl T %
(1) Y& YEH B (2) WY UGN B

(3) R fayam s wen (4) U SIHTI-9HAT HET

142 Which of the following is not main part of the communication proces'a ?
(1} To send the message
(2} To make the message
(3) To test the message
- (4)  To write the message

7ﬁ‘|’¢l’%%'ﬂ"§lﬂ"i".‘:§ﬂ~r f@“ﬂn'f?ﬁ%

(1. W S
@) |y FEm N

__ (é_)__ @A sife -

@) Ww R
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Choose correct pair -

(1)  Verbal communication - Oral and written communication
(2)  Verbal communication - Eye to Eye contact and Gestures
(3) Non-verbal communication - Touch comtact

(4) Non-verbal communication - Written and oral communlca
A SIS @1 g BING

(1) sz wwer - Aifas w& fiflag goo

(2) oufeaes @Y — WY WUE T qE gER

(3)  orgmiEm TEEY - Wyl wd

(4) lgTRes quivw — fafead wd WiRew e

.Experience cone for presentation of Audio-Visual aid relation is given by

{1) Edger Dale (2) Kilpatric
(3) John Dewy . (4) Morisson
i sor- Wuﬁmfhtﬁﬁﬁwua%wﬁfam%ﬁmagﬁwa@éﬁ
ar fae §
(1) e () FewiRm
(3) SIS @) wrfew
The term of Emotional Intelligence is given by |
¢)) Deniel Goleman (2) Terman
(3) Bin'et"-'_. (4) QGalton
WAt g 1 Wiy s (Term) ¥ @ frart ¥
(1) 3w e @) T
@) () e
146 The main theme of 'Emotional Intelligence' is
'(]) Knowing power' own emotions
) — Managing our emotions o :
(3) Recognizing the emotions of others .
{4) All of the above L : : .
e e g | .
) e e e e 3

(2) ST, ma“r a?f aﬁn‘%erc{ HEN

o (3) EGid aﬁ: HraR il nsin‘rm i

@ :mm e
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Guidance is helpﬁjl to improve the mental health of a learner, because
(1) Tt only influences the attitude of a learner
(2) Tt only improves the subsequent behaviour of a learner

(3) It provides good support to improve attitude and subsequent behaviour
of a learner

(4) None of the above

Rriyr, amtrd! % Gl w@rer B Ui ¥ veEd 8, wie

(1) o5 oftral % Haw sReHm B T BT

2) T Ry ¥ FeEw 9" TR (sTrT) AR B GURET

(3)ueaqf%mmaﬁ%wnthmamameﬁaﬁwaﬁaﬁz&rmmw
HET ¥

4 Ties ¥ 9 B 49

The process of Two sided interaction by satellite based technology is known as

(1) e-mail (2) Teleconferencing

(3) Computer (4) C.D. ROM

YT ST I dwAle & BRI S ﬁﬁmwﬁﬁcbwﬁa‘rd{wa?r
R A whEET weeR &

(1) 37 (2) Rk
(3) @YX (4) @I W\

The technique which aids to three dimensional presentation of C.D. ROM
and video is

(1) Digital Video Interaction (2) C.D. ROM

(3) Computer Assisted Instruction (4) Network

a5 i o A @ A A9 A S emanh wgdewer ¥ el g,
g ¥ |

(1) fefwew diear o T (2) Wi A9

(3) Wl . werEbia SR (4) “eak

To. proceed from the objectives towards their achlevement the use of
scientific method 1s -

(i System ' _ (2) System and Ofoanization

. (3} System Approach . (4) Hard and Soft Approach
‘ 3gsﬁfﬁmfﬁrqﬁrﬁtmr s{@%%%ﬂéﬁrﬁwﬁﬁhfﬁrm%
(L T o (2) oIl wE E

(3) TUmEl IUTTH (4) WA U B TIEH
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